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;1) X % # F K A ! % %

B 7 & o X 6,950 13,376 7,031 6,345

X B # K 1,209 2,821 1,387 1,434

£ P # K 547 1,377 694 683

N RO K 1,010 2,604 1,315 1,289

Bl 4% i K 7,185 | 4,889 7,285 7,604

N | R # K 1,312 3,078 1,500 1,578

it XX M # K 1,036 2,415 1,202 1,213

it &8 & b K 8,053 18,483 8,781 9,702

B » B # X 6,548 16,14 8,079 8,062

& 5 33,850 75,184 37,274 37,910
Lf6F6H 18

w K A& BT T % # #H A ] 5 54

7 BHME | B7EETA 4,627 9,234 4,65 | 4,583
¥ FB H 195 350 194 156

® B E 428 829 438 39|

£ L L H 777 1,353 856 497

g} R H 321 534 294 240

% g 602 1,076 598 478

#H X3 6,950 13,376 7,031 6,345

K E # K | &£ B H 88 204 101 103
K & H 828 1,936 944 992

= K 145 339 170 169

+ K 1% #7 6T 148 342 172 170

#H K3 1,209 2,821 1,387 1,434

E P # B | B F H 136 338 175 163
= (| 17 38 16 22

£ @\ H |24 390 185 205

& & H q7 217 102 115

wR O E 109 243 137 106

K F  H 64 151 79 72

#H K3 547 1,377 694 683

N R K | N KR 176 400 204 196
nOR |49 392 194 198

% Fr HT 32 78 34 44

B R ¥ & 488 1,319 681 638
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2f6F6H | B
X £ B T 4 it FEH A = L 8
Bl &£ # X | B & H 657 1,521 744 777
P9 & %7 @ BT | 2 2 0
A 1 HT 167 41 | 199 212
B R B 741 1,618 790 828
& & 974 2,155 1,005 1,150
Bl &£ 103 397 156 241
= & 1,980 3,951 1,964 1,987
B | TH 238 418 215 203
8 2 TEH 456 890 444 446
8 3 TH 499 8l 415 396
8 4 TBH 760 1,376 694 682
Mt W 26 15 |
NGB OFE A HT 437 922 459 463
JE £ 787 %7 @ T 16 37 15 22
LT 1 145 354 168 186
#H X 7,185 | 4,889 7,285 7,604
N R R X R AR E 1,312 3,078 1,500 1,578
#H X3 1,312 3,078 1,500 1,578
b X R X & ¢ H 71 220 115 105
& 7 #7 @ T 63 | 54 76 78
‘A BE YR E] 104 243 17 126
g @\ 60 142 74 68
it /H  H 73 190 92 98
N B 32 83 43 40
& ‘A 68 176 88 88
X B 6 16 7 q
BAaa | TH q4 194 105 89
BAaE2TH 90 197 93 |04
mHoE3TH 103 205 101 |04
a4 TH 136 306 148 158
Mo ES5TH 54 118 57 6|
BN E6TH 82 171 86 85
#H X 1,036 2,415 1,202 1,213
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H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 186 403 196 207
EWL2TEH 199 462 217 245
EWw 3 TEH |74 392 206 186
Bl 4 TEH 336 839 364 475
EWL5TEH 275 605 280 325
EWL 6 TEH 284 667 334 333
EWL7TEH 234 580 283 297
£ L 8 TH 271 603 303 300
WwWE I TEH 446 g3 434 497
WwWE2TEH |29 327 160 167
¥ 3ITBAE 232 514 265 249
WwWE4TEH 158 362 170 192
WwES5TH 248 557 267 290
WwW¥E 6 TBH 27| 614 284 330
NI T B 28 62 30 32
N2 T H 353 900 446 454
N3 TEH 182 404 209 195
NS 4 T B 663 1,260 52| 739
T& 1 TH 202 469 223 246
& 2T7TEH 237 574 269 305
& 3T7TEH 137 315 165 150
T & 4T7TEH 271 67| 325 346
&5 T7TH 194 440 192 248
BRE I TH 195 487 235 252
BHRE2TH 207 569 278 29|
BHRE3TE 72 193 q2 101
wHRE4TH 210 454 213 24 |
BHRES5TE 288 744 347 397
Afx& | TH 161 405 200 205
A& 2TH 175 414 205 209
A& 3TH 363 814 394 420
Afr& 4 TH 672 1,452 674 778
o X E 8,053 18,483 8,781 9,702
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2f6F6H | B
w KX & BT T & # % A ] 5 %
Ry MK | gEyrl TH 172 807 554 253
o E2TH 166 408 205 203
By A3 TH 206 468 240 228
o R4 TH 287 755 355 400
B4y A5 TH 347 821 382 439
By 6TH 331 940 470 470
o BET7TH 435 1,126 583 543
W/ AW TH 290 706 327 379
W/ W2TH 24| 580 284 296
W/ W3TH 382 989 47| 518
W/ W4TH 311 782 377 405
W/ W5TH 281 727 363 364
wr e TH 533 1,133 564 569
WworBE2TH 467 1,002 486 516
WwWor B3 T8 363 1,016 509 507
Wwor B 4TE 337 571 285 286
= I = 285 736 373 363
B3 2TB8 454 1,037 522 515
B3R 3TA8 313 754 385 369
B3 4TH 329 607 287 320
v B | TH | 133 38 95
v B 3 T8 |7 43 19 24
# K F 6,548 16,14 8,079 8,062
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